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Y3015 T 4 259 22 22 22|BW 12
31700 | F 10 864 864 864 864 55 1A 15— 2

31800 1F 9 LA 21 5,616 65 65 44 B 1035

31950 FAX 3 918 108 76 76| BN 104%

31900 ¥ 9 1,609 378 162 108| BN 9kg
34400 b b 110 22, 248 270 184 173 B [110kg
35220 | XM AR 6 3, 564 648 648 648 k5 P4 6kg
35300 E—x% 4 2,198 594 594 594 B 4kg

35303 |AF v TEZALS 7 2,646 378 378 378 B Tkg
Y3026 (Aty7 EZX AL (F) 11 3,645 378 324 324\ B 11kg
35402 | AFEH 10 9,612 972 972 918/ BB 10kg

Y3033 ZEAL 40 2,916 86 6] 54BN |40kg

36260 |IZ L7 120 11,664) 1,080 1,080 648 kb P 1247 — %
33200 AYTTU— 12 1,901 86 76 65| M 2418
133300 Fmyal— 5 1,296 86 86 86| &5 15

Y3018 73 13 832 76 65 54| B 135
Y3030 WEAEAE (%) 2 3,456) 1,728| 1,728]  1,728|@M 2kg
36340 & LR 6 972 162 162 162| B kg
| 41806 | 7= A A 10| 15, 908 186 324 173 BN 155% > b

46108  XAUFOAHE 36 45, 338 389 378 367 BN 1205 7

Z1011 A7 L —% 30, 360 55 17 11 BA 1, 3204
53456 |72 7l 5 1,134 270 238 238| B 7Y Skg
Y5010 obRE (F) 6 2,322 540 378 378| 6kg

30200 A5 2L 10 899 28 28 8RS 324k
130300 A% 2L 50 4,536] 1,080 864 864 ERE  [5—=
130300 A% L 30 7,452) 2,484 2,484  2,484EIRE |3/ —X
130400 ZES 4L 3 756 6] 76 T6|EEE 108
31100 A% 30 2,376/ 1,188 1,188 1,188/ M |24 —=R
31100 [¥ 1 30 5,616/ 2,808 2,808 2,808 KM  |2r—=
31200 (LHE | 4 1,404 76 76 65 FEVRE 2048 ]
33500 Y54 L 2 259 11 11 1]t 244%

33810 #HHEIE L 8 2,592 65 65 65 S 404%
31700 | F Y 210 10, 908 756 432 432 B |21r—x
31950 [AAE B 2L 30 8, 100 810 810 810/ fERE  |l0r—=x
31900 ¥ M 10 3, 780 216 216 162/ 78 18 5 205 (500g)
32800 (25 1,728 86 86 86| & IR 205
| 34300 7 L 1,836 1,836 1,836 1,836 A 17— 2R
134400 b b M 12 1,782 594 594 594EIRE |34 —=
34100 #K 2L 10 4,320 2,160] 2,160 2,160 VIR |24 —%

34100 #1/K B 10 1,512 756 756 56| 2%
| 34100 # B M 10 3,780 1,944  1,944) 1,836 &I 24 —2
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134500 E——r 6 6,318 108 e0gy
34571 STV A (R) 1 o912 162 e
34572 ST YA () 1 972 162 6
36600 mERE 80 5,724 1,512 4 —2

33400 L ¥ =% 6 1,581 132 1218
33410 H=—LHx % 3 1,728 1,728 15 —2
. 1 0 o e
33600 Sy 1 259 22 s
38100 A LUV 8 5,076] 59 805y s

38100 ALV 8 5,184 65| 8oty s
31310 AP 15 2, 160 22 754%

31500 /padE 12 3,024 B9 60%%

32500 | #oiE 2 567 54  22] 205
37560 | BHIE 1 2,214 270 8%y
38400 ZOXFH 15 3,024 22 1504%
| 40100 A A 10 2,592 1, 296 27—
41470 X A 2 1, 490 119 1248
Y4017 Hr 50 18 3, 499 194 1845
45503 Ly Kyn—7 1 367 184 28y
Y4056 7Y —ri—FL = 1 EEY 184 3y
49300 (¥ 4 T—Y 10 6, 480 3, 240 24—

EXl 1,218 289, 149‘




